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el dEdsy (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A=A RN 3,000 3,000 0
NSRS YOXX L BTH| Kot
3,000,000& 3,000
308 AXIHSOIA 168,000 168,000
07 HXHH 2L RES 168,000 168,000
NS ESIEEE
168,000,000 168,000
SHCR0(EX) 11,520 17,240 A, 720
< 1,440
s 10,080
301 EtE NS 11,520 17,240 A, 720
= 1,440
= 10,080
02 ARSI 2 XSG (FHAAHS, NLWE) 11,520 17,240 A5, 720
==X A 11,520,000& 11,520
= 1,440
o 10,080
sHRMZEZS(EX) 48,336 48,336 0
< 7,250
[Ea 41,086
201 2egh=3| 48,336 48,336 0
& 7,250
= 41,086
01 At2teltl 48,336 48,336 0
Ns0AEES A 91,2002 530 48,336
= 7,250
[Ea 41,086
sSETHA(EX) 25,200 0 25,200
= 14,400
s 10,800
307 212+01& 25,200 0 25,200
= 14,400
Ea 10,800
02 IHB A HE L 25,200 0 25,200
NsZE STHA ALY 25,200,000 25,200
= 14,400
= 10,800
seXHIHEMHI A ZRIAF(EX) 16,146 0 16,146
= 8,073
o 8,073
405 AtaHE = 16,146 0 16,146
= 8,073
o 8,073
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01 AL =S F=HI 16,146 0 16,146
1)=geXl HIHH MHIA olZet =
16, 146,000& 16,146
= 8,073
Ea 8,073
s?Is2EH(EX) 100,000 196,000 /96,000
Il 100,000
201 Ler=23 | 100,000 196,000 296,000
Il 100,000
01 AtR2t2lt] 100,000 196,000 296,000
NsXHs 29 = 100,000,000 100,000
Jl 100,000
siolsael(Ex) 161,837 83,263 78,574
Jl 159,109
[Ea 2,728
101 @124H| 152,745 80,348 72,397
Jl 162,745
04 JIZtN2Z2 XS+ 152,745 80,348 72,397
1)=XI0IZAEHZAL Q124H]
152,745,000 162,745
Jl 152,745
201 Zet=3h] 9,092 2,915 6,177
Il 6,364
s 2,728
01 AlR22IH| 9,092 2,915 6,177
1)SXI0IBAEZAL 22|
9,092,000 9,092
Jl 6,364
s 2,728
sHeBA+E(EX) 6,900,000 6,600,000 300,000
= 2,760,000
Ea 4,140,000
301 EtE NS 6,900,000 6,600,000 300,000
=S 2,760,000
s 4,140,000
14 0Bt 2as 6,900,000 6,600,000 300,000
1)s0iel Zolsg X2
6,900,000,000& 6,900,000
< 2,760,000
= 4,140,000
S ZH(EX) 20,000 20,000 0
= 3,000
Ea 17,000
307 el2to| & 20,000 20,000 0
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< 3,000
s 17,000
08 OIXtE2& = 20,000 20,000 0
Nsgel ESH XA
20,000,000& 20,000
= 3,000
Ea 17,000
SHEERHAME (EX) 45,200 81,500 /36,300
= 22,600
= 6,780
Ea 16,820
301 LEetE N = 45,200 81,500 /36,300
= 22,600
= 6,780
= 16,820
01 Al EEABZ2(2DEEMR) 45,200 81,500 A\36,300
N=E3S00ISsHH 45,200,000& 45,200
= 22,600
< 6,780
= 15,820
SUHMNSOINIHRIH (EX) 289,292 210,000 79,292
= 86,788
Ea 202,504
307 el2to| & 289,292 210,000 79,292
= 86,788
o 202,504
08 OIXt2d= 289,292 210,000 79,292
1)SAFMIIZ 01T XX 2 AILS
289,292,000 289,292
[ 86,788
T 202,504
SEZZFTHSE(SHEULALAMAIZLA NI )( 4,200 27,760 123,560
2x)
= 4,200
402 212 X201 & 4,200 24,500 /20,300
S 4,200
02 QI XHE AL E R (01X THE) 4,200 24,500 /20,300
Ns0EQE ALNAIL & WFAH
4,200,000 4,200
== 4,200
sl SSSSAXH(EX) 75,625 0 75,625
=S 75,625
307 lztol & 75,625 0 75,625
= 75,625
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= 306,992
= 789,408
301 EtE N = 1,096,400 1,096,400 0
= 306,992
Ea 789,408
14 0Bt 2a=S 1,096,400 1,096,400 0
NoE=s0gel #=HRHM XA
200,000&#5,482& 1,096,400
== 306,992
o 789,408
JRAEEAFANEM(EX) 1,604,800 1,604,800 0
= 802,400
== 160,480
o 641,920
301 22N 1,604,800 1,604,800 0
= 802,400
= 160,480
o 641,920
14 0Bt 2a3 1,604,800 1,604,800 0
NZ2AENMXER KR 1,604,800,000& 1,604,800
= 802,400
= 160,480
Ea 641,920
FANSIHHNALSEEXE 50,000 0 50,000
301 Eet2 NS 50,000 50,000
14 0Bt 2as 50,000 50,000
NS THAY ASEN
50,000,000 50,000
SENHEZ A 6,040 6,040
101 @124H| 5,040 5,040
M ORINZZE2NSE S 5,040 5,040
D0 S MIA At Q124H|
60,0003 x3 »283] 5,040
201 Zet=3hl 1,000 1,000
01 AtR2t2lHl 1,000 1,000
D0 S MA At A2EH|
500,000 <22 1,000
KNS SSHAIA X R 30,000 0 30,000
307 lztol & 30,000 0 30,000
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04 QIZHHAMAIH 2 & 30,000 0 30,000
NeH= =M X 30,000,000& 30,000
ARSI =N 2,645 2,645
201 er23y| 2,645 2,645
02 S3=gl 2,645 2,645
NSEE 528 200,002 200
DAMSIZEASAIY HUT2IY SN 24
Bl 2,444,440 2,445
AEANSHYHATD(EX) 230,793 941,868 AT11,075
= 69,238
= 161,555
307 elzto| & 230,793 117,100 113,693
= 69,238
Ea 161,555
06 28= 230,793 117,100 113,693
=21 S828s NJ(=2012F)
230,793,000 230,793
== 69,238
o 161,555
SIIZHIS XS (M EAY) 80,000 2,075,487 1,995,487
307 elztol & 80,000 2,075,487 1,995,487
02 LB HAHE L 80,000 2,075,487 1,995,487
DESIEEENEVEE
80,000,000& 80,000
ELNEHNSSLEZH(EX) 130,206 121,240 8,965
= 65,103
= 32,551
= 32,551
301 EtE N = 130,205 121,240 8,965
= 65,103
== 32,551
= 32,551
14 JIEt2 =3 130,205 121,240 8,965
NELWLH SSATY| X
130,205,000 130,205
= 65,103
& 32,551
Ea 32,551
HIZJHAHETIA(EX) 574,456 574,456
307 elzto| & 574,45 574,456
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NHIZIHHAE XA (B X)
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s 1,922,033
301 EtE NS 3,203,388 3,203,388 0
= 1,281,355
= 1,922,033
14 DBt 2 a=S 3,203,388 3,203,388 0
NH TSI 2SS A
3,203,388,000& 3,203,388
=S 1,281,355
s 1,922,033
SRS 2A(BX 81,033 81,033 0
= 81,033
101 @12A4H| 25,000 25,000 0
= 25,000
M ORIMZZ2NSE S 25,000 25,000 0
N3ASXSAIY 2tel| 12
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01 At 2t 56,033 56,033 0
NSASEREAY 22l 257
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= 25,813,000
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= 1,445,739
14 JIEt2 8= 1,445,739 2,002,000 556,261
Neolex 223 X
1,445,739,000& 1,445,739
= 1,445,739
=EIX S (EX) 50,000 135,000 /85,000
& 10,000
= 40,000
301 EtE NS 50,000 135,000 /85,000
= 10,000
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[Ea 40,000
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s 10,000
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SSS3 I (FLUEA 0l 70,000 0 70,000
401 Al HIZL 201 70,000 70,000
01 Al&H| 70,000 70,000
NI stat SSHAT ALEs
20,000,000& 20,000
NEx gel SS|1E =4
20,000,000 20,000
NE=2 8cl 3SR Z&
30,000,000& 30,000
S EH (2IHXIH) 61,948 206,493 144,545
= 61,948
307 21201 & 61,948 206,493 A144,545
== 61,948
06 2= 61,948 206,493 A144,545
N=gel HETGHEE (20 E)
61,948,000 61,948
=S 61,948
sHEMHEE (IIHXH) 923,104 3,077,014 /2,153,910
= 923,104
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NssUES8EI28EHIXIA
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== 3,600
[Ea 10,800
SUSKFMEHIRNN(ER) 67,320 0 67,320
= 16,830
= 50,490
402 QIF X201 & 67,320 0 67,320
= 16,830
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02 PIIHZ AN 2 X (01T ) 67,320 0 67,320
NEURSRHAYIN
67,320,000 67,320
== 16,830
o 50,490
sHATONFHLXA(EX) 69,242 0 69,242
= 20,772
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402 2IF X201 & 69,242 0 69,242
= 20,772
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02 P12 AN 2 X (OIH TR 69,242 0 69,242
ISP ETIES
69,242,000 69,242
s 20,772
s 48,470
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= 4,140
[Ea 12,420
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NHeEnxA 16,560,000 16,560
= 4,140
o 12,420
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[ 7,99
T 71,955
402 QI2F X201 & 79,950 0 79,950
= 7,995
s 71,955
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 136,680 0 136,680
NsdlIssSk 136,680,000 136,680
= 68,340
< 20,502
[Ea 47,838
HOSH 3,374,724 5,987,315 A2,612,591
= 72,300
< 190,838
[Ea 3,111,586
HUSE= 27,044 28,084 21,040
201 Ler23 | 4,764 5,804 1,040
01 At2t2ltl 4,564 5,604 21,040
NS F& 0HAH 1,664,000& 1,664
NAIRES & ARE 7
50,0002 122 600
NBSY MMTIES 28 L AoSY
1,300,002 1,300
DRSS et B B0t Y=
1,000,000& 1,000
2 s5=34l 200 200 0
NRERS 200,000 200
202 048l 20,280 20,280
01 2L A 20,280 20,280
NYSEE U0
60,0002 x4 +813] 19,440
NYREX 22 oI
60,0002 *1&x 142 840
308 AXIHSOIA 2,000 2,000
07 HXHH2LRES 2,000 2,000
NEIOISFLEX AZZHES B2
g= 2,000,000 2,000
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